(17 Ko L .
Z Al A B o

—

M OXb54+14=29 @ []=+74+13=18 ©® 8X8—[11=5H9 @ 14—[]+8=9

® [X2—-2=2 © OX[O+11=0b6 M 14+20-[0=19 ® 32+-8+[]=6

@ [1—=7X7=15 o 2+[]1X4=30 un [J4+9X8=89 @2 16—=12+-011=10

21 =-00—-2=1 v dxo6+00=42 09 27-3—-010=3 0o 16+[10+9=19

an 30+-L+6=11 ®»20—[OX9=2 9 [J+24+-8=21 o []—-12+4=12

en IX[—-8=6 @ 38—6X[=2 ©[+-4-8=1 CH 11+3X =17



[z Rd L (BRE)

5%
wE Z A = S )
M OX54+14=29 @ ]+74+13=18 ©® 8X8—[11=5H9 @ 14—[]+8=9
[IX5=29—-14=15 [1+7=18—-13=5 64— [1=59 [1+8=14—-9=5
[1=15+5 [1=56X7 [1=64—-59 [1=5X%X8
[1=3 [1=35 [1=5 [1=40
® [JX2—=2=2 © OX[J+11=5h6 14+25;D— 9 ® 32+-8+[1=6
[(IX2=242=4 OX [1=5b6—11=45 25=-01=19—-14=5 4+11=6
[1=4+2 [1=45+9 [1=256+5 (1=6—4
[1=2 [1=5 [1=5 [1=2
@ [J—=7X7=15 0 2+[1X4=30 un [J4+9X8=89 2 16 —12;D—1O
[1-49=15 [1X4=30—2=28 [14+72=89 22-0= 10=6
[1=15+49 [1=28+4 [(1=89—-72 (1=12+6
[1=064 [1=7 L1=17 [(1=2
121 =011—-2=1 v 4xXx6+[1=42 05 27+-3—-011=3 a0 15+[]+9=
21-00=14+2=3 26+ 11=42 9—[=3 [1+9=19—-15=4
[1=21+3 [1=42—-24 [1=9-3 [1=4X9
[1=7 [1=18 [1=6 [1=236
an 30+-0L0+6=11 ®»20—-[IX9=2 9 [J+24-8=21 @0 []—12+4=12
30+-=11-6=5 [1X9=20—2=18 (14+3=21 [1—-3=12
[1=30+5 [1=18+9 [1=21-3 [(1=12+3
[1=6 [1=2 [1=18 [1=15
en ITX[1—-8=6 ) 38—6X[]=2 ©[]1+-4—8=1 eH 1M +3X[1=
IX[=6+8=14 6x[1=38—2=236 (J+4=1+8=9 3xO=17—-11=6
O=14=7 =366 0=9x4 O=6+3

0=2 0=6 =36 =2



